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ECONOMICS
[GENERAL]
Paper : IV
Full Marks : 100 Time : 3 Hours

The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.

lllustrate the answer wherever necessary.

Answer all the questions.

GROUP-A
fTer-=
(Marks : 50)
(T ¢ @o)
1.  Answer any four questions: 1x4=4
-1 B el T e ¢
a)  What is budget deficit?

G qohe 62

b)  Give two examples of 'invisible trade'.
e e o e e |

c) What is meant by 'balanced budget'?
I JEH” IS [ QR 2
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d) What do you mean by Public good?
IR 7y T@TCe 6 @
e) What is free trade?
ST HfeTeT T AT 2
f)  Define 'terms of trade'.
ifeey KR 2797 A< wie |
Answer any six questions: 2x6=12

@I =B 2T Ted wie ¢

a)

b)

Give two important arguments in favour of free

trade.

w1 Afetrens 7oCF 1o wwgs)d I e |
What do you mean by 'Import substitution?
S fRmsae Feice & (e

What do you mean by 'Protected trade'?
FefFe Jlfeey @ e 5 @R

Define Tariff and Quota.

w5 @ sAfisTe AR e 7le |
What is Public Debt?

FHFIRN el P 012

Define Direct tax.

AOTF R AR WIS |
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g)

h)

Answer any four questions:

Distinguish between 'current budget' and

'capital budget'.

AL T € BEfS AT -4 MKy AN
RS |

What is meant by Regressive taxation?
SqisifeRlie 1 FeTce 6 @RI 2
6x4=24

@I oS At T WS ¢

a)

b)

d)

Briefly discuss the 'Absolute advantage theory

of International Trade'.

Tresifes Afdey saw Afa ©e’ Fewce!
T 4 |

Write a short note on 'Gains from International
Trade'.

TETies Afder (A AiY i’ Tow
FRE Bl @14 |

Distinguish between 'Fixed' and 'Flexible'

exchange rate system.

fax Yol R 29 ¢ AfRas@ie Ju [
TR T AL e |

Discuss the effects of Indirect taxation.

AT FIT FeTIFeT] SETO F |
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Answer any one question:

What are the sources of Revenue of the

Government?
TR e Sewfe i 2

Briefly discuss the arguments against

'protection of industries'.

EPRTweR [ees Jfoaf IeFe e
9|

10x1=10

@I @26 AT TEF 1S 2

a)

b)
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"An internal public debt imposes no burden on

the society" — Justify the statement.

‘ST AP el IS Sl (@R TT
— Sfeba zader og 4|

'Balance of Payment always balances itself' —

Explain the statement.

F [ B D T B i o B S A DA AT B2
G Acd — Tf&EH I 9 |

Discuss the 'Ability to Pay principle of

taxation'.

‘T M TN TS T ST 541
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GROUP-B
ISR
(Marks : 50)
(< ¢ @o)

Answer any four questions: 1x4=4

@I oS At T WS ¢

a)

b)

c)

d)

What is meant by average life expectancy?
T ererif*re eIy J=ce [ @RI ?

What is meant by balanced growth?

W g <oce 6 (@R e

What is capital intensive technique of

production?

TAE-RT et afs (e

What is Economic growth?

oS e FIF A0 2

What is meant by real per capita income?
oS WMoy o wree 7 R e
Define poverty line.

wifsey e Ae] ws |

[5] [Turn over]

Answer any six questions:

2x6=12

@I =B S Ted mie ¢

a)

b)

c)

d)

g)

h)
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What do you mean by externality?
3iferrel F@TCe & @RI 2

What do you mean by Human Capital?
TR ETE F@I0e [ Qe

Is 'environment' a Public good?

I 6 93T AR/ ASGA TSI T 2
What is meant by forward linkage effect?
AT FNS AN ACS 6 (R 2

Mention any two characteristics of economic

development.

SeT ST (@~ 76 @R @& |
Define (H.D.I) Human Development Index.
9 S IHCRE FER WG |

What is meant by disguised unemployment?
eoRs (JFIG @S fF (2

What is Big Push theory?

(@R 47 oeh &2
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Answer any four questions:

6x4=24

@I oS At T WS ¢

a)

b)

d)

Discuss briefly the 'low level equilibrium trap'
model of Nelson.

TR TN E ORI T OGlb ATHC
O ¢ |

Discuss briefly the merits and demerits of
capital intensive technique of production.
e [Re SedAma  @Fe AREl €
SRR ATH! SAETH 4 |

Discuss the effects of Foreign Direct

Investment on economic growth.

Lo ANfaa Soiw Rorl e Rfnes
S TS NG 54 |

What are the characteristics of an under

developed economy?
e wdaifen @R e

Briefly discuss the concept of 'vicious circle

of poverty'.
w8 Suard QRN ALl Sl 4 |

Briefly describe different stages of economic

growth in Rostow's theory.

weftafes Mfaa [fen wx TifFe aam veb
ARG A0 1 |
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Answer any one of the following question

10x1=10

@I @26 AT TEF 1S 2

8.
a)
b)
c)
67(A)

Discuss the role of deficit financing in

Economic development.

wftafes Taue 9itfe weiEEmg i
S 4 |

Evaluate the unbalanced growth theory.
SANEA % og b4 LETRIE <1 |

Discuss the Lewis model in the context of

surplus labour in less developed countries.

SCTEATD B T4 |
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